


Space For Rough Work Class-IX/01

[Time : 2.00 Hours] Full Marks  :  400

GOAL TALENT SEARCH EXAM (GTSE)

CLASS : IX (Sample Paper)

01. Two objects repel each other. This repulsion
could be due to :
(1) frictional force only
(2) electrostatic froce only
(3) magnetic force only
(4) either a magnetic or an electrostatic force

02. Which of the following statement is incorrect?
(1) Friction acts on a ball rolling along the ground.
(2) Friction acts on a boat moving on water.
(3) Friction acts on a bicycle moving on a road.
(4) Friction does not act on a ball moving through

air.
03. Pitch of sound is determined by its :

(1) frequency (2) amplitude
(3) speed (4) loudness

04. A water tank has four
taps fixed at points A, B,
C, D as shown in Fig.
The water will flow out
at the same pressure
from taps at :

A

B C

D

(1) B and C (2) C and D (3) A and B (4) A and C
05. The pressure exerted by a column of liquid is

independent of the __________ .
(1) density of the liquid
(2) weight of the liquid
(3) depth of the liquid
(4) shape of the container

06. The figure shows a light ray moving towards a
smooth surface.

Which of the following arrow represents the
possible direction of light ray after reflection ?

(1) (2) (3) (4)

01. nks oLrq, ¡ , d nwl js dks fodf"kZr djrh gSa A ; g fod"kZ.k gks l drk
gS&
(1) dsoy ?k"kZ.k cy ds dkj.k
(2) dsoy fo| qrLFkSfrd cy ds dkj.k
(3) dsoy pqEcdh;  cy ds dkj.k
(4) ; k rks pqEcdh;  ; k fo| qrLFkSfrd cy ds dkj.k

02. fuEufyf[ kr dFkuksa esa dkSu xyr gS \
(1) xsan i j yxus okyk cy t ehu ds vuqfn' k ?k"kZ.k yxrk gS A
(2) i kuh i j pyus okys uko i j ?k"kZ.k yxrk gS A
(3) l M+d i j pyus okys l kbfdy i j ?k"k.kZ yxrk gS A
(4) gok esa xfr djrs gq,  xsan i j ?k"kZ.k ugha yxrk gS A

03. èofu dh rhozrk fu/ kZfjr gksrh gSµ
(1) bl dh vkòfÙk }kjk (2) bl ds vk; ke }kjk
(3) bl dh xfr }kjk (4) bl dh i zcyrk }kjk

04. , d i kuh ds VSad esa pkj uy]
fcUnqvksa A, B, C rFkk D i j  fLFkr
gS t Sl k fd fp=k esa n' kkZ; k x; k gSA
i kuh l eku nkc l s bl  fcUnq i j
ckgj fudysxh—

A

B C

D

(1) B rFkk C (2) C rFkk D (3) A rFkk B (4) A rFkk C
05. nzo ds LrEHk }kjk yxk; k x; k nkc ------------ l s Lora=k gS A

(1) nzo ds ?kuRo (2) nzo ds nzO; eku
(3) nzo dh xgjkbZ (4) crZu ds vkdkj

06. fp=k] i zdk' k dh fdj.k dk fpduh l rg dh vksj t kus dks n' kkZrk
gS ?

fuEufyf[ kr esa dkSu&l k rhj i jkorZu ds ckn i zdk' k fdj.k dh
l aHko fn' kk dks n' kkZrk gS \

(1) (2) (3) (4)
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07. A sphere of relative density  and diameter d
has concentric cavity of diamter D. What is the
ratio of d/D if it just floats on water in a tank ?

(1)
1
3 (2)

1
3

1
 
   

(3)
1
32

3( 1)
 
   

(4)
1
3

3( 1)
 
   

08. Which one is not a force at a distance ?

(1) Gravitational force (2) Magnetic force

(3) Frictional force (4) Electrostatic force

09. Work done by a frictional force is :

(1) Negative (2) Positive

(3) Zero (4) All of the above

10. The current flowing in a copper voltameter is
4.8 A. The number of Cu++ ions deposited at the
cathode per minute are x × 1020. Find the value
of x. (approximately)

(1) 6 (2) 12 (3) 9 (4) 18

11. A person fires a gun infront of a building 83 m
away. If the speed of sound is 332 ms–1. Calculate
the time after which he hears an echo.

(1) 1 sec. (2) 0.5 sec.

(3) 0.25 sec. (4) 2 sec.

12. A car starts from rest and moves along the
x-axis with constant acceleration 9 ms–2 for
6 seconds. If it then continues with constant
velocity, what distance will the car cover in
10 seconds since it started from the rest ?

(1) 236 m (2) 264 m

(3) 378 m (4) 342 m

13. An object starting from rest travels 30 m in first
2 s and 240 m in the next 4 s. What will be the
velocity after 8 s from the start.

(1) 120 m/s (2) 100 m/s

(3) 110 m/s (4) 90 m/s

07. vki sf{kd ?kuRo  rFkk O; kl  d okys xksys dk] D O; kl  dk l adsfUnzr
xqgk gS A ; fn ; g i kuh ds VSad esa rSjrk gS] d/D dk vuqi kr D; k
gS \

(1)
1
3 (2)

1
3

1
 
   

(3)
1
32

3( 1)
 
   

(4)
1
3

3( 1)
 
   

08. fuEufyf[ kr esa dkSu fdl h nwjh i j cy ugha gS \
(1) xq#Rokd"kZ.k cy (2) pqEcdh;  cy
(3) ?k"kZ.k cy (4) fo| qrLFkSfrd cy

09. ?k"kZ.k cy }kjk fd; k x; k dk; Z gksrk gS &
(1) Í . kkRed (2) / ukRed
(3) ' kwU; (4) mi ; qZDr l Hkh

10. rkEcz oksYVehVj esa i zokfgr / kjk 4.8 A gS A dSFkksM i j i zfr feuV
t es gq,  Cu++ vk; uksa dh l a[ ; k x × 1020 gS A x dk eku
(yxHkx)  Kkr djsa A
(1) 6 (2) 12 (3) 9 (4) 18

11. , d O; fDr fdl h Hkou ds l keus 83 m dh nwjh l s cUnwd pykrk
gS A ; fn èofu dh xfr 332 ms–1 gS] rks ft rus l e;  ds ckn og
i zfrèofu l qurk gS] bl dh x.kuk djsa A
(1) 1 sec. (2) 0.5 sec.

(3) 0.25 sec. (4) 2 sec.

12. , d dkj fojke l s pyuk i zkjaHk djrh gS rFkk 6 l sd.M ds fy,
9 ms–2 ds fu; r Roj.k l s x-v{k ds vuqfn' k xfr djrh gS A ; fn
; g rc Hkh fu; r xfr l s pyrh gS] rks 10 l sds.M ds ckn og
fdruh nwjh r;  djsxh] t c og fojke l s pyuk i zkjaHk djrh gS \
(1) 236 m (2) 264 m

(3) 378 m (4) 342 m

13. , d oLrq fojke l s xfr i zkjaHk dj ds i zFke 2 s esa 30 m dh nwjh
r;  djrh gS rFkk nwl js 4s esa 240 m dh nwjh r;  djrh gSA
i zkjaHk l s 8 s ckn xfr D; k gksxh \
(1) 120 m/s (2) 100 m/s

(3) 110 m/s (4) 90 m/s
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14. Velocity versus time graph of a ball of mass
100 g rolling on a concrete floor is shown in Fig.
Calculate the frictional force of the floor on the
ball.
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15. The weight of any person on the moon is about
1/6 times that on the earth. He can lift a mass
of 24 kg on the earth. What will be the maximum
mass, which can be lifted by the same force
applied by the person on the moon ?

(1) 144 kg (2) 72 kg (3) 24 kg (4) 4 kg

16. An object weight 20 N in air. When immersed
fully in water, it weighs only 14 N. The weight of
the liquid displaced by the object will be :

(1) 3 N (2) 1.5 N (3) 6 N (4) 14 N

17. The power of a motor pump is 2.5 kW. How much
water per minute the pump can raise to a height
of 20 m ? (Given g = 10 ms–2)

(1) 500 kg (2) 750 kg (3) 1000 kg (4) 1250 kg
18. If velocity of sound in air is 330 ms–1, calculate

frequency when wavelength is 0.44 m.

(1) 750 Hz (2) 1500 Hz

(3) 375 Hz (4) 900 Hz

19. A particle is moving in a circular path of radius
r. The displacement after half a circle would be:

(1) r (2)
r

2


(3) 2r (4) 2 r

20. The atmosphere is held to the earth by :
(1) rotation of earth

(2) gravity

(3) earth’s magnetic field

(4) clouds

14. fp=k esa] , d daØhV l rg i j ?kw.kZu dj jgsa 100 g nzO; eku okys
xsan dk osx&l e;  xzki Q n' kkZ; k x; k gS A xsan i j l rg ds ?k"kZ.k cy
dh x.kuk djsa A.
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l e;  (s)
(1) 1 N (2) 2 N (3) 4 N (4) 8 N

15. pUnzek i j fdl h Hkh O; fDr dk ot u] i F̀oh i j dk yxHkx 1/6
xq.kk gS A og i F̀oh i j 24 fdxzkú ds nzO; eku dks mBk l drk gSA
vfèkdre nzO; eku D; k gksxk] ft l s pk¡n i j O; fDr }kjk yxk,  x,
l eku cy l s mBk; k t k l ds\
(1) 144 kg (2) 72 kg (3) 24 kg (4) 4 kg

16. , d oLrq dk gok esa ot u 20 N gS A t c bl s i kuh esa i w.kZr% Mqck; k
t krk gS rks bl dk ot u dsoy 14 N gS A oLrq }kjk foLFkkfi r nzo
dk ot u gksxk&
(1) 3 N (2) 1.5 N (3) 6 N (4) 14 N

17. , d eksVj i Ee dh ' kfDr 2.5 kW gS A i ai  i zfrfeuV fdruk i kuh
20 ehVj dh mQ¡pkbZ rd c<+k l drk gS \
(fn; k x; k] g = 10 ms–2)
(1) 500 kg (2) 750 kg (3) 1000 kg (4) 1250 kg

18. ; fn ok; q esa èofu dh xfr 330 ms–1 gS rks t c r jaxnS?; Z
0.44 m gS] rks vkòfÙk dh x.kuk djsa A
(1) 750 Hz (2) 1500 Hz
(3) 375 Hz (4) 900 Hz

19. , d oLrq r f=kT; k okys òÙkkdkj i Fk esa xfr dj jgh gks] rks òÙk ds
vk/ s fgLl s rd foLFkki u gksuk pkfg, &

(1) r (2)
r

2


(3) 2r (4) 2 r

20. i F̀oh i j i ; kZoj.k gksrk gS—
(1) i F̀oh ds ?kw.kZu ds dkj.k
(2) xq#Ro ds dkj.k
(3) i F̀oh dk pqqEcdh;  {ks=k ds dkj.k
(4) ckny ds dkj.k
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21. At a given temperature kinetic theory of gas
predicts that-

(1) All the molecule have the same average
speed.

(2) All the molecule have the same average K.E.

(3) Lighter molecules have higher averge K.E.

(4) Lighter molecule have lower average K.E.

22. Which of the following statements are correct?

I. Temperature changes during the change of
a state.

II. Dry ice gets converted directly into gaseous
state under normal atmospheric conditions.

III. Higher boiling point of liquid indicates weaker
intermolecular forces.

IV. Latent heat of vaporisation is generally
higher than the latent heat of  fusion for a
substance.

(1) I and IV (2) II and IV

(3) II and III (4) III and IV

23. Based on the statements given here choose the
correct answer.

(I) In polar regions aquatic life is safe in water
under frozen ice.

(II) Water has a high latent heat of fusion and
the upper portion of ice does not allow the
heat of the water escape to the  surrounding

(1) (I) and (II) true and (II) explains (I)

(2) (I) and (II) are true but (II) does not explain (I)

(3) Only (I) is true

(4) Only (II) is true

24. The rate of diffusion is affected by which of the
following .?

(1) Temperature

(2) Size of molecule

(3) Steepness of the concentration gradient

(4) (1), (2) & (3)

21. fdl h fn; s x; s rki  ds fy,  xSl  dk xfrt  fl ¼kar ; g crkrk gS
fd&
(1) l Hkh v .kqvksa dh vkSl r pky l eku gksrh gSA
(2) l Hkh v .kqvksa dh vkSl r xfrt  mQt kZ l eku gksrh gSA
(3) gYds v .kqvksa dh mPp vkSl r xfrt  mQt kZ gksrh gSA

(4) gYds v .kqvksa dh fuEu vkSl r xfrt  mQt kZ gksrh gSA

22. fuEufyf[ kr esa l s dkSu l s dFku l R;  gSa\

(I) voLFkk i fjoÙkZu ds l e;  rki  esa i fjoÙkZu gksrk gSA

(II) l kekU;  ok; qeaMyh;  n' kk esa ' kq"d ci ZQ l h/ s xSl h;  voLFkk esa
i fjofrZr gksrk gSA

(III) nzo dk mPp DoFkukad nqcZy vUrjkf.od cy dks l wfpr
djrk gSA

(IV) fdl h i nkFkZ ds fy,  ok"i u dh xqIr m"ek l ekU; r% xyu dh
xqIr m"ek l s v f/ d gksrh gSA

(1) I vkSj IV (2) II vkSj IV

(3) II vkSj III (4) III vkSj IV

23. ; gk¡ fn; s x; s dFkuksa i j vk/ kfjr l gh mÙkj dks pqusa &

I. / zqoh;  {ks=kksa esa t yh;  t hou t eh gqbZ ci QZ ds uhps t y esa
l qjf{kr jgrk gSA

II. t y ds xyu dh xqIr m"ek mPp gksrh gS rFkk ci QZ dk mQi jh
Hkkx t y dh m"ek dks okrkoj.k es fudyus ugha nsrk gS

(1) (I) rFkk (II) l R;  gSa rFkk (II), (I) dh O; k[ ; k djrk gSA

(2) (I) rFkk (II) l R;  gSa ysfdu (II), (I) dh O; k[ ; k ugha djrk
gSA

(3) dsoy (I) l R;  gSaA

(4) dsoy (II) l R;  gSaA

24. fuEufyf[ kr esa l s fduds }kjk fol j.k dh nj i zHkkfor gksrh gS\

(1) rki

(2) v .kq dk vkdkj

(3) l kUnz.k i zo.krk dh i zcyrk
(4) (1), (2) rFkk (3)
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25. Which of the following statements best explains
why a closed  balloon filled with helium gas rises
in air?
(1) Helium is a monoatomic gas, whereas nearly

all the molecules that make up air, such as
nitrogen and oxygen, are diatomic.

(2) The average speed of helium atoms is higher
than the average speeds of air molecules, and
the higher speed of collisions with the balloon
walls propels the balloon upwards.

(3) Because the helium has a lower molar mass
than the average air molecule,the helium gas
is less dense than air.

(4) Because helium has a lower molar mass
than the average air molecule, the helium
atoms are in faster motion. This means that
the tempeature of the helium is higher than
the air temperature. Hot gases tend to rise.

26. Which of the following is a characteristic of both
mixtures and compound?
(1) They contain components in fixed proportions
(2) Their properties  are the same as those of

their components
(3) Their weight equals the sum of the weights

of their components.
(4) Energy is given out when they are being

prepared.
27. Brownian movement is due to : –

(1) temperature fluctuations within the liquid
phase.

(2) attraction and repulsion between the charges
on the colloidal particles

(3) impact of molecule of the dispersion medium
on the colloidal particles

(4) convention currents.
28. Which of the following statements is/are

incorrect?
(I) Centrifugation method can be used to

separate butter from cream.
(II) Coloured component of blue ink can  be

separated by evaporation.
(III) Chromatography can be used to detect drugs

in blood.
(IV) Camphor can be separated from salt by

crystallisation.
(1) II only (2) II and III only
(3) IV only (4) II and IV only

25. fuEufyf[ kr dFkuksa esa l s dkSu l gh O; k[ ; k djrk gS fd ghfy; e
xSl s l s Hkjh cSywu gok esa D; ksa mQi j mBrh gS\
(1) ghfy; e , di jekf.od xSl  gS] t cfd djhc l Hkh v .kq t ks

gok dk fuekZ.k djrs gSa t Sl s fd ukbVªkst u rFkk vWDl ht u]
f}i jekf.od gSaA

(2) ghfy; e i jek.kq dh vkSl r pky] gok ds v .kqvksa dh vkSl r
pky l s v f/ d gksrh gS rFkk cSywu dh nhokj l s mPp pky l s
l a?kkr] cSywu dks mQi j mBkrh gSA

(3) D; ksafd ghfy; e dk eksyj-nzO; eku ok; q ds v .kq ds vkSl r
nzO; eku l s de gksrk gS] ghfy; e xSl  gok dh v i s{kk de
?kuh gksrh gSA

(4) D; ksafd ghfy; e dk eksyj-nzO; eku ok; q ds v .kq ds vkSl r
nzO; eku l s de gksrk gS] ghfy; e i jek.kq dh xfr rst  gksrh
gSA bl dk vFkZ ; g gqvk dh ghfy; e dk rki  gok ds rki  l s
v f/ d gksrk gSA xeZ xSl sa Åi j mBrh gSaA

26. fuEufyf[ kr esa l s dkSu feJ.k rFkk ; kSfxd nksuksa dk v fHky{k.k gS\
(1) muesa ; kSfxd fuf' pr vuqi kr esa jgrs gSaA
(2) muds xq.k] muds ; kSfxdksa ds xq.kksa ds l eku gksrs gSaA
(3) muds Hkkj muds ; kSfxdksa ds Hkkj ds ; ksx ds cjkcj gksrs gSaA
(4) mQt kZ ckgj fudyrh gS t c mudk fuekZ.k gksrk gSA

27. czkmfu; u xfr gksrk gS&
(1) nzo i zkoLFkk ds vUnj rki  esa mrkj-p<+ko ds dkj.k
(2) dksykWbMh d.kksa ds vkos' kksa ds chp vkd"kZ.k rFkk i zfrd"kZ.k ds

dkj .k
(3) dksykWbMh d.kksa i j i fj{ksi .k ekè; e ds v .kqvksa ds i zHkko ds

dkj .k
(4) l aogu / kjk ds dkj.k

28. fuEufyf[ kr esa l s dkSu l k dFku l R;  gS@gSa\
(I) eykbZ l s eD[ ku fudkyus ds fy,  v i dsUnz.k fof/  dk

mi ; ksx fd; k t k l drk gSA
(II) uhys L; kgh dk jaxhu vo; o ok"i u }kjk i F̀kd fd; k t k

l drk gSA
(III) jDr  esa u' khys i nkFkZ dk i rk yxkus ds fy,  o.kZys[ k

(ØkseSVksxzki Qh)dk mi ; ksx fd; k t k l drk gSA
(V) ued l s di wj dks jokdj.k fof/  }kjk vyx fd; k t k l drk gSA
(1) dsoy II (2) dsoy II vkSj III
(3) dsoy IV (4) dsoy II vkSj IV
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29. Study the given Venn diagram carefully.

Solid

Liquid Gas
21

3

Which of the following colloidal systems correctly
represent points 1, 2 and 3?

1 2 3
(1) Mist Whipped cream Dust fumes
(2) Milk Hair Cream Pumice stone
(3) Paints Smoke Cloud
(4) Coloured Wings of Butter

 glasses butterflies
30. Which of the following statement is not correct?

(1) A compound is a pure substance
(2) Compound is homogeneous in nature
(3) Compound always contains two or more

element
(4) Compound can be separated into constituent

element by some physical process.
31. An ionic compound of element M and chlorine

has the formula MCl3. The molecular mass of
MCl3 is 118.5. What will be the molecular mass
of the oxide of element M?
(1) 28 (2) 44 (3) 72 (4) 99

32. A mixture of sulphur and iron filings is heated
strongly to obtain a residue. Which of the
following is not a characteristic property of the
residue?
(1) It can be separated into sulphur and iron

filings by physical methods.
(2) Its composition does not change from one part

to another.
(3) Its properties  are entirely different from those

of sulphur and iron filings.
(4) Its appearance is different from those of

sulphur and iron filings.
33. Chemical analysis of a carbon compound gave

the following percentage composition by weight
of the element present in it. carbon = 10.06%,
hydrogen = 0.84% chlorine = 89.10%
Calculate the expirical formula of the compound
(1) C2H2Cl2 (2) CHCl2
(3) CHCl3 (4) C4H4Cl4

29. fn; s x; s osu vkjs[ k dk l ko/ kuhi woZd vè; ; u djsaA

Bksl

nzo xSl
21

3

fuEufyf[ kr esa l s dkSu l s dksykWbMh i z.kkyh l gh : i  l s fcUnqvksa
1, 2 rFkk 3 dks fu: fi r djrs gSa

1 2 3

(1) dqgkl k i QsaVh gqbZ eykbZ / wy&/ q¡,
(2) nw/ gs; j Øhe >k¡ok¡
(3) i saV / q¡vk ckny
(4) jaxhu dk¡p frrfy; ksa ds i a[ k eD[ ku

30. fuEufyf[ kr esa l s dkSu l k dFku l gh ugha gS\
(1) ; kSfxd , d ' kq¼ i nkFkZ gSA
(2) ; kSfxd , dl ekax i zdf̀r dk gksrk gSA
(3) ; kSfxd esa ges' kk nks ; k nks l s v f/ d rRo gksrs gSaA
(4) ; kSfxd dks dqN HkkSfrd i zfØ; kvksa }kjk vo; oh rRoksa esa i F̀kd

fd; k t k l drk gSA
31. rRo M rFkk Dyksjhd ds , d vk; fud ; kSfxd dk l w=k MCl3 gSA

MCl3 dk vkf.od nzO; eku 118.5 gSA rRo M ds vkWDl kbM dk
vkf.od nzO; eku D; k gksxk\
(1) 28 (2) 44 (3) 72 (4) 99

32. xa/ d rFkk ykSg pw.kZ ds feJ.k dks v f/ d xeZ dj vko' ks"k i zkIr
fd; k t krk gSA fuEufyf[ kr esa dkSu vo' ks"k dk v fHkyk{kf.kd xq.k
ugha gS\

(1) HkkSfrd fof/  }kjk bl s xa/ d rFkk ykSg pw.kZ esa i F̀kd fd; k t k
l drk gS]

(2) bl dk l a?kVd , d Hkkx l s nwl js Hkkx esa i fjofÙkZr ugha gksrk gSA

(3) bl ds xq.k xa/ d rFkk ykSg pw.kZ l s i w.kZr% fHkUu gSaA

(4) ; g ns[ kus esa xa/ d rFkk ykSg pw.kZ l s fHkUu gSaA

33. , d dkcZu ; kSfxd dk jkl k; fud fo' ys"k.k l s ml esa mi fLFkr rRo
dk Hkkj }kjk fuEufyf[ kr i zfr ' kr l a?kVd nsrk gSA dkcZu = 10.06%
gkbMªkst u = 0.84% Dyksjhu 89.10%

; kSfxd ds ewykuqi krh l w=k dh x.kuk djsa&

(1) C2H2Cl2 (2) CHCl2

(3) CHCl3 (4) C4H4Cl4
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34. Calculate the number of moles and atoms that
in 1 gm of helium.
(1) 0.25 moles, 1.505 × 1023 atoms
(2) 0.3 moles, 1.505 atoms
(3) 0.25  moles, 1.505 × 10–23 atoms
(4) 0.3 moles, 2.0 atoms

35. How many atoms are present in 0.25 mole of
SO3?
(1) 1.505 × 1023 atoms of sulphur and 4.515 × 1023

atom of oxygen.
(2) 4.15 × 1023 atom of oxygen and 2.505 × 1022

atoms of sulphur
(3) 2.505 × 1023 atoms of sulphur and 3.505 × 1022

atoms of oxygen.
(4) 3.05 × 1022 atoms of sulphur and 2.515 × 1023

atoms of oxygen.
36. 20.8 g of BaCl2 on reaction with 9.8 g of H2SO4

produces 7.3 g of HCl and some amount of BaSO4.
The amount of BaSO4 formed is
(1) 23.3 g (2) 20.8 g (3) 9.8 g (4) 10.4 g

37. What is the reason for the identical chemical
properties of all the isotopes of an elements?
(1) same number of valence electrons
(2) same number of protons
(3) same number of neutrons
(4) Both (2) & (3)

38. Few statements regarding the distribution of
electrons in the energy shells are given. Which
of the following statements is not correct?
(1) For fourth energy shell (N), the maximum

number of electrons is 32 according to 2n2

rule.
(2) When L is the outermost shell of an atom,

atom can accommodate a maximum of 8
electrons only.

(3) The filling of the fourth shell begins even
before the third shell is completely filled.

(4) Fifth shell can accommodate maximum 50
electrons according to 2n2 rule.

39. Mg2+ and F– ions differ in which of the following
fundamental particles?
(1) Electrons, protons, and neutrons
(2) Protons & neutrons
(3) only protons
(4) Neutrons & electron

34. 1 xzke fgfy; e esa muds eksyksa rFkk i jek.kqvksa dh l a[ ; k Kkr djsaA
(1) 0.25 eksy] 1.505 × 1023 i jek.kq
(2) 0.3 eksy] 1.505 i jek.kq
(3) 0.25 eksy] 1.505 × 10–23 i jek.kq
(4) 0.3 eksy] 2.0 i jek.kq

35. SO3 ds 0.25 eksy esa fdrus i jek.kq gS\
(1) xa/ d ds 1.505 × 1023 i jek.kq rFkk vkWDl ht u ds

4.515 × 1023 i jek.kq
(2) vkWDl ht u ds 4.15 × 1023 i jek.kq  rFkk xa/ d ds

2.505 × 1022 i jek.kq
(3) xa/ d ds 2.505 × 1023 i jek.kq rFkk vkWDl ht u ds

3.505 × 1022 i jek.kq
(4) xa/ d ds 3.05 × 1022 i j ek. kq v kSj  v kWDl ht u ds

2.515 × 1023  i jek.kq
36. 20.8g BaCl2 dks 9.8 g H2SO4 ds l kFk v fHkfØ; k djkus i j

7.3g HCl rFkk BaSO4 dh dqN ek=kk fufeZr gksrh gSA fufeZr
BaSO4 dh ek=kk gS&
(1) 23.3 g (2) 20.8 g (3) 9.8 g (4)10.4 g

37. fdl h rRo ds l Hkh l eLFkfudksa ds l eku jkl k; fud xq.kksa dk D; k
dkj.k gS\
(1) l a; kst drk bysDVªkWuksa dh l eku l a[ ; k
(2) i zksVkWuksa dh l eku l a[ ; k
(3) U; wVkWuksa dh l eku l a[ ; k
(4) (2) rFkk (3) nksuksa

38. mQt kZ Lrjksa esa bysDVªWkuksa ds forj.k ds l aca/  esa dqN dFku fn; s x; s
gaSA fuEufyf[ kr dFkuksa esa l s dkSu l k l R;  ugha gS\
(1) prqFkZ mQt kZ Lrj (N) ds fy,  2n2 fu; e ds vuql kj bysDVªkWuksa

dh egÙke l a[ ; k 32 gSA
(2) t c fdl h i jek.kq dk okg~; re d{k L gks rks ; g v f/ dre

dsoy 8 bysDVªkWu dks l e; ksft r djk l drk gSA
(3) prqFkZ d{k esa bysDVªkWu dk Hkjuk] r r̀h;  d{k esa bysDVªkWu ds

i w.kZr% Hkjus l s i gys gh ' kq:  gks t krk gSA
(4) i k¡poh d{kk esa 2n2 fu; e ds vuql kj 50 bysDVªkWu jg l drs

gSaA
39. Mg2+ rFkk F– vk; u fuEufyf[ kr esa l s fdu ekSfyd d.kksa l s

fHkUu gS\
(1) bysDVªkWu] i zksVkWu rFkk U; wVªkWu
(2) i zksVªkWu rFkk U; wVªkWu
(3) dsoy i zksVªkWu
(4) U; wVªkWu rFkk bysDVªkWu
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40. Energy of an orbit :–

(1) Increases  as we move away from the nucleus

(2) Remains same as we move  away from the
nucleus

(3) Decreases as we move away from the
nucleus

(4) None of the above.

41. Endoplasmic reticulum's membrane is similar
in structure to

(1) Cell wall (2) Nuclear membrane

(3) Plasma membrane (4) Tonoplast

42.

(I)

(II)
Which diagram show meiotic division.

(1) Only 'I' (2) Only 'II"

(3) Both (4) None of the above
43. The movement of water molecules through a

selectively permeable membrane is called.

(1) Translocation (2) Osmosis

(3) Active transport (4) Imbibition
44. Agaricus belongs to—

(1) Monera (2) Protista

(3) Fungi (4) Plantae

45. Egg laying mammals is
(1) Echidna (2) Platypus

(3) Kangaroos (4) Both (1) and (2)

40. fdl h d{k dh mQt kZ&
(1) c<rh gS] t c ge ukfHkd l s nwj t krs gSaA
(2) ogh jgrh gS] t c ge ukfHkd l s nwj t krs gSaA
(3) ?kVrh gS] t c ge ukfHkd l s nwj t krs gSaA
(4) mi ; qZDr dksbZ ughaA

41. var%i znzO; h t kfydk dh f>Yyh bl dh l ajpuk ds l eku gS&
(1) dksf' kdk fHkfÙk (2) ukfHkdh;  f>Yyh
(3) IykTek f>Yyh (4) VksuksIykLV

42.

(I)

(II)

buesa l s dkSu l k fp=k v / Zl w=kh foHkkt u dks n' kkZrk gS&
(1) dsoy I (2) dsoy II
(3) nksuksa (4) mi ; qZDr dksbZ ugha A

43. t y ds v .kqvksa dk pqfuank i kjxE;  f>Yyh }kjk i zokg djuk dgykrk
gS &
(1) fol j.k (2) i jkl j .k
(3) l fØ;  i fjogu (4) var%' kks"k.k

44. , xsfjdl  l acaf/ r gS &
(1) eksusjk (2) i zksfVLVk
(3) i aQxl (4) IykaVh

45. v .Ms nsus okys Lru/ kjh gSa &
(1) , fdM~uk (2) IysfVi l
(3) daxk: (4) (1) rFkk (2) nskuksa



Space For Rough Work Class-IX/09

46. Choose the correct option regarding given
diagram.

Plant Tissue

A B

Apical 
tissue

Lateral
tissue C ED

Parenchyma Collenchyma Sclerenchyma Xylem Phloeom

(1) A-meristematic tissue, D-complex
permanent tissue.

(2) E-complex permanent tissue,
B-Meristematic tissue

(3) C-Intercalary tissue, D-Simple permanent
tissue

(4) A-permanent tissue, B-Meristematic tissue

47. Correct zoological name of ostrich is—

(1) struthio camulus (2) Struthio Camelus

(3) struthiocamelus (4) Struthio camelus

48. Helicobacter pylori was responsible for

(1) AIDS (2) Peptic ulcers

(3) Mouth ulcers (4) Both (2) and (3)

49. Neutrophil, Eosinophils, Platelets, Monocytes,
Bone, Areolar Tissue, Cartilage, Cardiac
Muscles, Smooth Muscles, Adipose Tissue.

How many belongs to connective tissue

(1) 5 (2) 8 (3) 4 (4) 10

50. Girth of stem increase due to presence of—

(1) Apical meristem (2) Intercalary meristem

(3) Lateral meristem (4) Xylem

51. Choose the correct pair

(1) Robert Hooke – Nucleus

(2) Schleiden, Schwann, Virchow – Discovered
living cell

(3) Purkinje – gave term cytoplasm

(4) None of the above

46. fn,  x,  vkjs[ k ds fy,  l gh fodYi  pqusa &

i kni  mÙkd

A B

' kh"kZ
mÙkd

i k' oZ
mÙkd

C ED

i SjsUdkbek dkWysUdkbek LdsjsUdkbek t k; ye Ýyks, e

(1) A-' kh"kZLFk foHkT; ksÙkd , D-t fVy LFkk; h mÙkd

(2) E-t fVy LFkk; h mÙkd, B-' kh"kZLFk foHkT; ksÙkd

(3) C-varfoZ"V mÙkd, D-l jy LFkk; h mÙkd

(4) A-LFkk; h mÙkd, B-' kh"kZLFk foHkT; ksÙkd

47. vkWfLVªp ( ' kqrqeqZx)  dk l gh t Urq&oSKkfud uke gS &

(1) LV™ªfFk; ks dSeqyl (2) LV™ªfFk; kWu dSesyl

(3) LV™ªfFk; ksdSesyl (4) LV™ªfFk; ks dSesyl

48. gsfydkscSDVj i k; jksyh mÙkjnk; h Fkk &

(1) AIDS ds fy, (2) i sfIVd vYl j ds fy,

(3) eq¡g vYl j  ds fy, (4) (2) rFkk (3) nksuksaA

49. U; qVªkWfi Qy] b; ksfl uksfi Qy] IysVysV~l ] eksuksl kbV] vfLFk] , jksyj mÙkd]
mi kfLFk] g̀n;  ekal i s' kh] fpduh ekal i s' kh] ol k mÙkdA

buesa l s fdrus l a; kst h mÙkd l s l acaf/ r gSa &
(1) 5 (2) 8 (3) 4 (4) 10

50. ruk dh i fjf/  budh mi fLFkfr ds dkj.k c<+rh gS &

(1) ' kh"kZLFk foHkkT; ksÙkd (2) vUrfoZ"V mÙkd

(3) i k' oZ mÙkd (4) t k; ye

51. l gh ; qXe pqusa &

(1) jkWcVZ gqd & ukfHkd

(2) ' ksfYMu] ' oku] okjpkWm & t hfor dksf' kdk dh [ kkst

(3) i qjfdat s & i n] dksf' kdk nzO;  fn; k

(4) mi ; qZDr dksbZ ugha



Space For Rough Work Class-IX/010

52. (i) The covering or protective tissue in animal
body.

(ii) Cube shaped cell forms the lining of kidney
tubules and ducts of salivary glands.

Given characters belongs to which tissue
(1) Epithelial tissue (2) Connective tissue
(3) Muscular tissue (4) Neural tissue

53. Choose the incorrect option

(1) Pisces—

(a) exoskeleton of scales

(b) Breathing through gills

(2) Amphibia—
(a) Lung in most larva

(b) Slimy skin

(3) Aves—

(a) Triploblastic

(b) Exoskeleton of feathers

(4) Echinodermata—

(a) Notochord absent

(b) Coelomate

54. Choose the correct option for the diagram given
below.

(A)
(B)

(C)

(D)

(1) d - companion cell

(2) c - sieve tube

(3) b - sieve plate

(4) a - phloem parenchyma

55. Which one of the following is angiosperrmic plant
(1) Fern (2) Marsilea
(3) Pea (4) BGA

52. (i) t Urq ' kjhj dk vkofjr ; k j{kk mÙkd gSA
(ii) ?ku vkdkj dh dksf' kdk òDd ufydk dh vLrj vkSj ykj xzafFk

dh okfguh cukrh gSA
fn; k x; k xq.k fdl  mÙkd ds l acaf/ r gS &
(1) mi dyk mÙkd (2) l a; kst h mÙkd
(3) ekal i s' kh;  mÙkd (4) raf=kdk mÙkd

53. xyr fodYi  dks pqusa &
(1) i kbl sl —

(a) Lrj dk okg~;  dadky
(b) xyi QM+k l s ' ol u

(2) , fEi Qfc; k—
(a) v f/ drj ykokZ esa i sQi QM+k
(b) fi Ql yunkj Ropk

(3) , Ol —

(a) fVªIyksCykfLVd
(b) i a[ kksa dk okg~;  dadky

(4) bdkbuksMesZVk—
(a) i "̀BnaM dh vuqi fLFkfr
(b) fl yksesV

54. uhps ds fp=k ds fy,  l gh fodYi  pqusa &

(A)
(B)

(C)

(D)

(1) d - l g; ksxh dksf' kdk
(2) c - fNnz ufydk
(3) b - fNnz IysV
(4) a - Ýyks, e i sjsUdkbek

55. buesa l s dkSu vkòrcht h i kS/ s gSa &
(1) i QuZ (2) el sZfy; k
(3) eVj (4) uhyk&gjk ' kSoky
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56. Which one of the correct diagram of 'Riccia'

(A)

(B) (C)
(1) A (2) B
(3) C (4) None of the above

57. All cells arises from pre-existing cell was given
by
(1) Schleiden (2) Robert Brown
(3) Rudolf virchow (4) Schwann

58. The outer membrane of mitochondria is  A
while the inner membrane is   B   . Fill the blanks
(1) A-Deeply folded, B-Porous
(2) A-porous, B-Deeply folded
(3) A-Porous, B-Porous
(4) A-porous, B-non-permeable

59. Which one help in biogenesis of proteins and
lipids
(1) Nucleus
(2) Endoplasmic reticulum
(3) Golgi bodies
(4) None of the above

60. Apical meristem is present at
(1) tips of root (2) tips of shoot
(3) tips of leaf (4) Both (1) and (2)

61. The value of :

2 2 2 2

2 2 2 2b

a a b a b b

a b b a a 

   


  

(1)
2

2
a
b

(2)
2

2
b
a

(3)
a
b (4) none

56. buesa l s dkSu fjfDl ; k dk l gh fp=k gS &

(A)

(B) (C)
(1) A (2) B

(3) C (4) mi ; qZDr dksbZ ughaA
57. l Hkh dksf' kdk, ¡] i woZ&ekSt wn dksf' kdk l s mRi Uu gksrs gaS] ; g fn; k x; k

Fkk &
(1) l sfYMu }kjk (2) jkWcVZ ckmu }kjk
(3) : MkWYi Q ojpkWm }kjk (4) Loku }kjk

58. ekbVksdkWfUMª; k dh okg~;  f>Yyh  A     gS ogha Hkhrjh f>Yyh   B    gSA
fjDr LFkkuksa dks HkjsaA
(1) A-xgjkbZ l s eqM+k gqvk, B-fNnzi w.kZ
(2) A-fNnzi w.kZ, B-xgjkbZ l s eqM+k gqvk
(3) A-fNnzi w.kZ, B-fNnzi w.kZ
(4) A-fNnzi w.kZ, B-v i kjxE;

59. buesa l s dkSu i zksVhu vkSj fyfi M ds t Sol a' ys"k.k esa enn djrk gS&
(1) ukfHkd (2) var%i znzO; h t kfydk
(3) xksYt h dk; (4) buesa l s dksbZ Hkh ugha

60. ' kh"kZLFk foHkT; ksrd mi fLFkr gksrk gS &
(1) t M+ ds vxzHkkx i j (2) ' kk[ kk ds vxzHkkx i j
(3) i Ùkh ds vxzHkkx i j (4) (1) rFkk (2) nksuksa

61.
2 2 2 2

2 2 2 2b

a a b a b b

a b b a a 

   


  

dk eku gS %

(1)
2

2
a
b

(2)
2

2
b
a

(3)
a
b (4) dksbZ ugha
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62. In the figure, the bisectors of B and C meet
O. Then BOC is :

O

1
2

3
4

A

B C

(1)
190 A
2

  (2)
190 C
2

 

(3)
190 B
2

  (4) None of these

63. If 
1 2
3 3x 2 2  , find the value of x3 – 6x

(1) 0 (2) 1 (3) 6 (4) 4
64. Three cylinders each height of 16 cm and radius

of base 4 c.m are placed on a plane, so that each
cylinders touches the other two. Then the
volume of region enclosed between the three
cylinders in cm3 is :

(1) 98(4 3 )  (2) 98(2 3 ) 

(3) 98( 3 )  (4) 128(2 3 ) 

65. In the figure given below O is the centre of the
circle, line AB intersects the circle only at point
B, and line DC intersect the circle only at point
C. If the circle has a radius of 2 cm, then AC is :

45°
A B

C

D

O

(1) 4 cm (2) 2 + 2 cm

(3) 4 + 2 cm (4) 2 + 2 2 cm

66. The fraction 
2( 2 6)

3( 2 3 )



  is equal to :

(1)
2 2

3
(2) 1 (3)

2 3
3

(4)
4
3

62. fp=k esa B rFkk C ds v¼Zd O i j  feyrs gSa rc BOC gS %

O

1
2

3
4

A

B C

(1)
190 A
2

  (2)
190 C
2

 

(3)
190 B
2

  (4) buesa l s dksbZ ugha

63. ; fn 
1 2
3 3x 2 2   rks  x3 – 6x dk eku Kkr djsa A

(1) 0 (2) 1 (3) 6 (4) 4

64. 16 cm Å¡pkbZ rFkk vk/ kj dh f=kT; k 4 c.m okys i zR; sd rhu
csyuksa dks , d l ery i j bl  i zdkj j[ ks x; s gSa fd i zR; ds csyu
vU;  nks csyu dks Li ' kZ djrk gSA rc rhu csyuksa ds chp ds
vUrZfufgr {ks=k dk vk; ru cm3 esa gS %

(1) 98(4 3 )  (2) 98(2 3 ) 

(3) 98( 3 )  (4) 128(2 3 ) 

65. uhps fn; s x; s fp=k esa O òÙk dk dsUæ gS] js[ kk AB  òÙk dks dsoy
fcUnq B i j  i zfrPNsn djrh gS rFkk js[ kk DC òÙk dks dsoy fcUnq C
i j  i zfrPNsn djrh gSA ; fn òÙk dh f=kT; k 2 cm gks, rks AC  gS :

45°
A B

C

D

O

(1) 4 cm (2) 2 + 2 cm

(3) 4 + 2 cm (4) 2 + 2 2 cm

66. fHkUu 
2( 2 6)

3( 2 3 )



  cjkcj gS %

(1)
2 2

3
ds (2) 1 ds (3)

2 3
3

ds (4)
4
3 ds



Space For Rough Work Class-IX/013

67. a b c d    where d, c, b, a are
consecutive natural number. Then which of the
following is true ?

(1) a b c d   (2) c d a b  

(3) a c b d   (4) None of these

68. When a number is divided, the divisor is equal
to three times the remainder or equal to the
square of the remainder. If ten times the divisor
is more than the quotient by a value equal to
the remainder, then what is the dividend?
(1) 857
(2) 976
(3) 786
(4) Can not be determined

69. If 2m + 5n and 3m + 4n are two distinct prime
number’s then the number’s whose G.C.D. is 50
is :
(1) 50 m + 150 n and 150 m + 20 n
(2) 100 m + 250 n and 150 m + 200 n
(3) 100 m + 200 n and 250 m + 300 n
(4) 50 m + 250 n and 150 m + 250 n

70. Find the value of x and y of the following pair of
linear equation, by using method of substitution:
x + ay = b; ax – by = c

(1)
2

2 2
ac b ab cx , y
a b a b

 
 

 

(2)
2

2 2
ac b ab cx , y
a b a b

 
 

 

(3)
2

2 2
ab c ab bx , y
a b a b

 
 

 

(4)
2

2 2
ab c ac bx , y
a b a b

 
 

 

71. Find the smallest value of ‘x’ for which

5 73 x 2x
3 2

   , where x  z.

(1) x > –2.5 (2) x > –1.5 (3) x < –2.5 (4) x < 1.5

67. a b c d    t gk¡ d, c, b, a Øekxr i zkdr̀ l a[ ; k, ¡
gSaA rks fuEefyf[ kr esa l s dkSu l R;  gS ?

(1) a b c d   (2) c d a b  

(3) a c b d   (4) buesa l s dksbZ Hkh ugha

68. t c , d l a[ ; k dks foHkkft r fd; k t krk gS rks Hkkt d] ' ks"ki Qy dk
frxq.kk gksrk gS ; k ' ks"ki Qy ds oxZ ds cjkcj gksrk gSA ; fn Hkkt d
dk nl  xq.kk] Hkkxi Qy l s v f/ d gS t ks ' ks"ki Qy ds eku ds cjkcj
gS rks HkkT;  D; k gS ?
(1) 857

(2) 976

(3) 786

(4) fu/ kZfjr ugha fd; k t k l drk gSA
69. ; fn 2m + 5n rFkk 3m + 4n nks fHkUu vHkkT;  l a[ ; k, ¡ gks] rks

l a[ ; k, ¡ ft udk egÙke l eki oÙkZd (G.C.D.) 50 gS] og gS &
(1) 50 m + 150 n vkSj 150 m + 20 n

(2) 100 m + 250 n vkSj 150 m + 200 n

(3) 100 m + 200 n vkSj 250 m + 300 n

(4) 50 m + 250 n vkSj 150 m + 250 n

70. fuEufyf[ kr js[ kh;  l ehdj.kksa ds ; qXe ds fy,  i zfrLFkki u fof/  l s
x rFkk y dk eku Kkr djsa A

x + ay = b; ax – by = c

(1)
2

2 2
ac b ab cx , y
a b a b

 
 

 

(2)
2

2 2
ac b ab cx , y
a b a b

 
 

 

(3)
2

2 2
ab c ab bx , y
a b a b

 
 

 

(4)
2

2 2
ab c ac bx , y
a b a b

 
 

 

71. ‘x’ dk U; wure eku Kkr djsa ft l ds fy,

5 73 x 2x
3 2

   , t gk¡ x  z.

(1) x > –2.5 (2) x > –1.5 (3) x < –2.5 (4) x < 1.5
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72. In the given figure the value of x° is :

30
°x°

D

A E B
20°40°

(1) 60° (2) 70° (3) 80° (4) 90°
73. Which of the following statements is true ?

(1) |x × y| = |x| · |y|, where x and y are rational
number.

(2) Infinite number of rational number between
two rational numbers.

(3) |x| = –x if x < 0 where x is a rational numbers.
(4) All the above

74. A bag contains 3 white and 5 red balls. If a ball is
drawn at random, the probability that the drawn
ball to red is :

(1)
3
8 (2)

5
8 (3)

3
15 (4)

5
15

75. A kite in the shape of a square with a diagonal
32 cm and an isosceles traingle of base 8 cm
and side 6 cm each is to be made of three
different shades as shown in fig. How much
papers of each shade has been used in it ?

B

I
A C

II P

III
D

FE

(1) 144 cm2, 256 cm2, 16.64 cm2

(2) 225 cm2, 256 cm2, 17.88 cm2

(3) 256 cm2, 256 cm2, 17.88 cm2

(4) none of these

72. fn; s x; s fp=k esa x° dk eku gS %

30
°x°

D

A E B
20°40°

(1) 60° (2) 70° (3) 80° (4) 90°

73. fuEufyf[ kr esa dkSu l s dFku l R;  gaS ?

(1) |x × y| = |x| · |y|, t gk¡ x rFkk y i fjes;  l a[ ; k, ¡ gSa A

(2) nks i fjes;  l a[ ; kvksa ds chp vuUr i fjes;  l a[ ; k, ¡ gSaA

(3) |x| = –x ; fn x < 0 t gk¡ x , d i fjes;  l a[ ; k gSA

(4) mi jksDr l Hkh

74. , d FkSys esa 3 l i Qsn rFkk 5 yky xsansa gSaA ; fn , d xsan dks ; kǹfPNd
fudkyk t k;  rks ml ds yky gksus dh i zkf; drk gSA

(1)
3
8 (2)

5
8 (3)

3
15 (4)

5
15

75. 32 cm fod.kZ okyk , d oxkZdkj i rax vkSj , d l ef}ckgq f=kHkqt
ft l dk vk/ kj 8 cm rFkk vU;  nks esa l s i zR; sd Hkqt k, ¡ 6 cm gS]
dks fp=kkuql kj rhu fofHkUu jaxksa ds dkxt  l s cukuk gSA bl esa i zR; sd
jax ds fdrus dkxt  mi ; ksx fd,  x,  gSa ?

B

I
A C

II P

III
D

FE

(1) 144 cm2, 256 cm2, 16.64 cm2

(2) 225 cm2, 256 cm2, 17.88 cm2

(3) 256 cm2, 256 cm2, 17.88 cm2

(4) buesa l s dksbZ ugha
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76. ABCD is a rhombus, EABF is a straight line such
that EA = AB = BF. when ED and FC produced,
meet at O, then DOC = ?

2 3

4

O

D C

FBA

1

E

(1) 90° (2) 60° (3) 75° (4) 45°
77. Find the values of a and b :

7 1 7 1 a b 7
7 1 7 1
 

  
 

(1) a = 2, b = 1 (2)
2a 0, b
3


 

(3) a = 11, b = 6 (4)
2a , b 1
3


 

78. What must be added to 3x3 + x2 – 22x + 9, so that
result is exactly divisible by 3x2 + 7x – 6 ?
(1) 2x + 3 (2) 4x + 5 (3) 0 (4) 3x + 2

79. In figure AB||CD. Find the value of x.

B D

105° x°A C

25°
E

(1) 130° (2) 75° (3) 155° (4) 105°
80. The radius of a sphere is increased by P %. Its

surface area increases by :
(1) P % (2) P2 %

(3)
2P2P %

100

 
  

 
(4)

2P %
2

81. How many pairs of letters are there in the word
INTEGRATION which have the same number of
letters between them as in the English alphabet?
(1) Four (2) Five
(3) Six (4) More than seven

76. ABCD , d l eprqHkZqt  gS, EABF , d l jy js[ kk bl  i zdkj gS fd
EA = AB = BF t c ED rFkk FC dks c<+k; k t krk gS rks os O i j
feyrs gSa] rc DOC = ?

2 3

4

O

D C

FBA

1

E

(1) 90° (2) 60° (3) 75° (4) 45°
77. a rFkk b dk eku Kkr djsa :

7 1 7 1 a b 7
7 1 7 1
 

  
 

(1) a = 2, b = 1 (2)
2a 0, b
3


 

(3) a = 11, b = 6 (4)
2a , b 1
3


 

78. 3x3 + x2 – 22x + 9 esa D; k t ksM+k t k;  fd i fj .kke
3x2 + 7x – 6 l s i w.kZr% foHkkft r gks t k,  \
(1) 2x + 3 (2) 4x + 5 (3) 0 (4) 3x + 2

79. fp=k esa AB||CD gSA x dk eku Kkr djsa A

B D

105° x°A C

25°
E

(1) 130° (2) 75° (3) 155° (4) 105°
80. fdl h xksys dh f=kT; k P % l s c<+k; h t krh gSA bl dk i "̀B {ks=ki Qy

c<+rk gS -
(1) P% }kjk (2) P2% }kjk

(3)
2P2P %

100

 
  

 
 }kjk (4)

2P %
2

 }kjk

81. ' kCn INTEGRATION esa v {kjksa ds fdrus ; qXe gSa t ks vaxzst h
o.kZekyk ds l eku gh buds chp v {kjksa dh l a[ ; k l eku gS\
(1) pkj (2) i k¡p
(3) Ng (4) l kr l s v f/ d
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82. How many 2’s are there in the following number
series which are preceded by 5 but not followed
by an odd number ?
1 3 5 2 3 5 4 5 2 4 5 2 2 6 2 4 5 2 6 7 8 2 3 5 2 7 5
2 4
(1) One (2) Two
(3) Three (4) None of these

83. If ' '  stands for ‘greater than’, ‘×’ stands for
‘addition’, ‘+’ stands for ‘division’, ‘–’ stands for
‘equal to’, ‘>’ stands for ‘multiplication’, ‘=’ stands
for ‘less than’ and ' '  stands for ‘minus’, then
which of the following alternatives is correct ?
(1) 5 < 2 ×1   3 > 4 × 1
(2) 5 > 2 < 1 – 3 × 4 × 1
(3) 5 > 2 × 1 – 3 > 4 < 1
(4) 5 + 2 × 1 = 3 + 4 > 1

84.

A2 C4 E6

G3

M5

I5

O9

?
Q14

(1) L10 (2) K15 (3) I15 (4) K8
85. In the given figure, rectangle, square, circle and

triangle represents the regions of wheat, gram,
maize and rice cultivation respectively.

1
28

3
4

5
6 10

11

97

Which area is cultivated by rice and maize only?
(1) 9 (2) 8 (3) 2 (4) 7

86. Fifty students were there in class Eight who took
the Mental Ability Test. Six of the students did
not qualify. Out of the remaining Rohit ranked
14th from the last. What was his rank from the
top?
(1) 34 (2) 31 (3) 37 (4) 30

82. fuEufyf[ kr l a[ ; k Jà[ kyk esa fdrus 2 gSa t ks fd 5 l s i gys gSa] i jUrq
fo"k;  l a[ ; k ds ckn ugha gSa\
1 3 5 2 3 5 4 5 2 4 5 2 2 6 2 4 5 2 6 7 8 2 3 5 2 7 5
2 4

(1) , d (2) nks
(3) rhu (4) buesa l s dksbZ ugha

83. ; fn ' ' v̂ f/ d gS*] dks l wfpr djrk gS] ‘×’ ̂ ; ksx* dks l wfpr djrk
gS] ‘+’ Ĥkkx* dks l wfpr djrk gS] ‘–’ ĉjkcj gS* dks l wfpr djrk
gS] ‘>’ x̂q.kk* dks l wfpr djrk gS]  ‘=’ N̂ksVk gS* dks l wfpr djrk
gS rFkk ' '  ?̂kVko* dks l wfpr djrk gSA rks fuEufyf[ kr esa
dkSu&l h fodYi  l gh gS\
(1) 5 < 2 ×1   3 > 4 × 1
(2) 5 > 2 < 1 – 3 × 4 × 1
(3) 5 > 2 × 1 – 3 > 4 < 1
(4) 5 + 2 × 1 = 3 + 4 > 1

84.

A2 C4 E6

G3

M5

I5

O9

?
Q14

(1) L10 (2) K15 (3) I15 (4) K8

85. fn,  x,  fp=k esa vk; r] oxZ] òÙk vkSj f=kHkqt ] Øe' k% xsgw¡] puk]
edbZ vkSj pkoy dh [ ksrh okys {ks=k dks n' kkZrs gSaA

1
28

3
4

5
6 10

11

97

dkSu l k {ks=k dsoy pkoy vkSj edbZ dh [ ksrh ds fy,  gS\
(1) 9 (2) 8 (3) 2 (4) 7

86. d{kk vkB esa i pkl  Nk=k Fks ft Ugksusa rdZ i jh{kk esas fgLl k fy; kA
buesa l s Ng Nk=k mÙkh.kZ ugha gq, A buesa cps gq,  esa jksfgr us vafre
l s pkSngok¡ LFkku i zkIr fd; kA ' kh"kZ l s ml dk LFkku D; k Fkk\
(1) 34 (2) 31 (3) 37 (4) 30
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87. How many independent words can ‘HEARTLESS’
be divided into without changing the order of the
letters and using each letter only once?

(1) Two (2) Three (3) Four (4) Five

88. Given question consist of two sets of figures.
Figures A, B, C and D constitute the problem set
while figs. (1), (2), (3) and (4) constitute the
answer set. There is a definite relationship
between figs. A and B. Establish a similar
relationship between figs. C and D by choosing
the suitable fig. D.

Problem Figures

?
A B C D

Answer Figures

(1) (2) (3) (4)

89. Find out from amongst the four alternative
figures which would look like the one when the
paper is folded at the dotted line.

Transparent paper

Answer figures

(1) (2) (3) (4)

87. v{kjksa ds Øe dks cnys fcuk vkSj i zR; sd v {kj dks dsoy , d ckj
mi ; ksx dj HEARTLESS ' kCn dks fdrus Lora=k ' kCnksa esa foHkkft r
fd; k t k l drk gS\
(1) nks (2) rhu (3) pkj (4) i k¡p

88. fn,  x,  i z' u esa fp=kksa ds nks l sV gSaA fp=k A, B, C, rFkk D i z' u
l sV cukrs gSa ogha fp=k (1), (2), (3) rFkk (4) mÙkj l sV cukrs gSaA
fp=k A rFkk B esa , d fuf' pr l aca/  gSA mfpr fp=k D pqudj fp=k
C rFkk D ds chp , sl k gh l aca/  LFkkfi r djsaA

i z' u fp=k

?
A B C D

mÙkj  fp=k

(1) (2) (3) (4)

89. pkj fodYi  fp=kksa esa ml  fp=k dks pqusa t ks fcUnq js[ kk esa dkxt  dks
eksM+us i j oSl k i zrhr gksrk gSA

i kj n' khZ dkxt

mÙkj  fp=k

(1) (2) (3) (4)
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90. A die is thrown four times and its four different
positions are given below. Find the number on
the face opposite to 3.

5
64

2 3 4
4 5 51 6 1

(i) (ii) (iii) (iv)

(1) 1 (2) 2 (3) 4 (4) 6

91. Study the figure and answer the question given
below :

10 7

6 1312

8

4

11 14

5

9

Government 
employees

Men

Educated 

Urban

Which of the following represents the educated
men but not urban?

(1) 9 (2) 5 (3) 4 (4) 11

92. In a certain coding system, ‘rbm std bro pus’
means ‘the cat is beautiful’, ‘tnh pus dim std’
means ‘the dog is brown’ and ‘pus dim bro pus
cus’ means ‘the dog has the cat’. What is the
code for ‘has’?

(1) std (2) dim (3) cus (4) bro

93. Answer the question based on the following
information :

(i) A + B means A is the mother of B.

(ii) A – B means A is the sister of B.

(iii) A * B  means A is the father of B.

(iv) A B  means A is the brother of B.

Which of the following means Q is the
grandfather of P?

(1) P + N * M * Q (2) Q * N * M + P

(3) Q M N * P  (4) Q * N * M – P

90. , d i k' ks dks pkj ckj mNkyk x; k vkSj ml dh pkj fHkUu fLFkfr; k¡
uhps nh xbZ gSA l rg 3 ds foi jhr dh l a[ ; k Kkr djsaA

5
64

2 3 4
4 5 51 6 1

(i) (ii) (iii) (iv)

(1) 1 (2) 2 (3) 4 (4) 6

91. fp=k dk vè; ; u djsa rFkk uhps fn,  i z' u dk mÙkj nsaA

10 7

6 1312

8

4

11 14

5

9

l jdkjh deZpkjh

vkneh

f' kf{kr

' kgjh

fuEufyf[ kr esa dkSu f' kf{kr vkneh gS i jUrq ' kgjh ugha gSA

(1) 9 (2) 5 (3) 4 (4) 11

92. fdl h l kadsfrd i ¼fr esa 'rbm std bro pus' dk eryc 'the
cat is beautiful', 'tnh pus dim std' dk eryc 'the
dog is brown' rFkk 'pus dim bro pus cus' dk eryc
'the dog has the cat'. 'has' ds fy,  D; k l adsr gSa\

(1) std (2) dim (3) cus (4) bro

93. fuEufyf[ kr fooj.kksa ds vk/ kj i j i z' u dk mÙkj nsaA

(i) A + B eryc A, B dh ek¡ gSA

(ii) A – B eryc A, B dh cgu gSA

(iii) A * B eryc A, B dk fi rk gSA

(iv) A B  eryc A, B dk HkkbZ gSA

fuEukafdr esa fdl dk eryc Q, P dk nknk gSA

(1) P + N * M * Q (2) Q * N * M + P

(3) Q M N * P  (4) Q * N * M – P
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94. Minimum number of straight lines required to
form the given figure is __________ .

(1) 22 (2) 20 (3) 18 (4) 24

95. Which two months in a year have the same
number of days?

(1) April, July (2) April, August

(3) June, October (4) October, December

96. Kalyani is mother-in-law of Veena who is sister-
in-law of Ashok. Dheeraj is father of Suddep, the
only brother of Ashok. How is Kalyani related to
Ashok?

(1) Mother-in-law (2) Aunt

(3) Wife (4) None of these

97. Insert the missing number in place of question
mark from the given alternatives.

15

20

15

3545

50

30

20 25

33 32

15 100

27 4212 68

30 ?

18 58

(1) 50 (2) 0 (3) 10 (4) 64

98. Q’s Mother is the sister of P and daughter of M. S
is the daughter of P and sister of T. How is M
related to T?

(1) Grand mother

(2) Father

(3) Grand father

(4) Grand father or grand mother

99. Complete the series

5, 11, 23, 47, 95, ____.

(1) 191 (2) 161 (3) 169 (4) 190

94. fn,  x,  fp=k ds fy,  l h/ h js[ kkvksa dh U; wure l a[ ; k _____ gSA

(1) 22 (2) 20 (3) 18 (4) 24

95. o"kZ esa dkSu l s nks eghus] ft l esa fnuksa dh l a[ ; k l eku gS \

(1) v i zSy] t wykbZ (2) v i zSy] vxLr

(3) t wu] vDVwcj (4) vDVwcj] fnl Ecj

96. dY; k.kh] oh.kk dh l kl  gS t ks v ' kksd dh ' kkyh gSA / hjt ] l qnhi
ds fi rk gSa t ks v ' kksd dk bdykSrk HkkbZ gSA dY; k.kh v ' kksd l s dSl s
l acaf/ r gS \

(1) l kl (2) pkph

(3) i Ruh (4) buesa l s dksbZ ugha

97. fodYi ksa l s i z' uokpd fpg~u dh t xg yqIr l a[ ; k dks HkjsaA

15

20

15

3545

50

30

20 25

33 32

15 100

27 4212 68

30 ?

18 58

(1) 50 (2) 0 (3) 10 (4) 64

98. Q, dh ek¡] P dh cgu gSa rFkk M dh csVh gSA S, P dh csVh gS rFkk
T dh cgu gSA M, T l s dSl s l acaf/ r gSA

(1) nknh

(2) fi rk

(3) nknk

(4) nknk ; k nknh

99. Jà[ kyk dks i wjk djsaA
5, 11, 23, 47, 95, ____.

(1) 191 (2) 161 (3) 169 (4) 190
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100. There is a figure (X) with one or more dots placed
in it. This figure is followed by four other answer
figures marked (1), (2), (3) and (4) only one of
which is such as to make possible the placement
of the dot or dots satisfying the same conditions
as in the figure (X). Find the correct answer
figure in each case.

(X)

(1) (2)

(3) (4)

100. , d fp=k (X) gS ft l esa , d ; k , d l s v f/ d fcUnq fLFkr gSA ; g
fp=k pkj vU;  mÙkj fp=k (1), (2), (3) rFkk (4) dk vuq' kj.k djrh
gS ft l esa dsoy , d bl  i zdkj gS fd fcUnq ds l aHko LFkku dks fp=k
(X) dh rjg l eku fLFkfr dks l arq"V djrh gSA i zR; sd fLFkfr esa l gh
mÙkj fp=k Kkr djsaA

(X)

(1) (2)

(3) (4)



1.

2.

3.

4.

5.

6.

7.

8.

9.

10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

21.

22.

23.

24.

25.

(4)

(4)

(1)

(1)

(4)

(4)

(2)

(3)

(4)

(3)

(2)

(3)

(1)

(2)

(1)

(3)

(2)

(1)

(3)

(2)

(2)

(2)

(1)

(4)

(3)

26.

27.

28.

29.

30.

31.

32.

33.

34.

35.

36.

37.

38.

39.

40.

41.

42.

43.

44.

45.

46.

47.

48.

49.

50.

51.

52.

53.

54.

55.

56.

57.

58.

59.

60.

61.

62.

63.

64.

65.

66.

67.

68.

69.

70.

71.

72.

73.

74.

75.

GTSE -  (SAMPLE PAPER)

ANSWER KEY
CLASS - 9

76.

77.

78.

79.

80.

81.

82.

83.

84.

85.

86.

87.

88.

89.

90.

91.

92.

93.

94.

95.

96.

97.

98.

99.

100.

(3)

(3)

(3)

(3)

(4)

(3)

(1)

(3)

(1)

(1)

(1)

(1)

(2)

(2)

(1)

(3)

(2)

(2)

(3)

(4)

(3)

(4)

(2)

(2)

(3)

(4)

(1)

(2)

(1)

(3)

(1)

(3)

(2)

(2)

(4)

(4)

(1)

(3)

(4)

(4)

(4)

(2)

(3)

(2)

(2)

(2)

(4)

(4)

(2)

(3)

(1)

(2)

(1)

(1)

(3)

(1)

(4)

(3)

(4)

(3)

(2)

(2)

(4)

(3)

(3)

(4)

(3)

(4)

(2)

(4)

(4)

(2)

(4)

(1)

(3)




